
WHAT THE SHEEP MUST BE
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Sheq), breeding is decreasing throughout the entire worW :,n^

Hcr 1.000,000 heads where it now nonibers only 600000 In 1901the^re were 396 sheep per 1000 inhabitants, in 191i™were o^y

The decrease is due to different reasons: diseases on poor Ivdrained lamls. lack of good fences, distraction by d^s and otheranimals and the lack of technical advice.
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Since the last few years the Dominion and Provincial Dent's ofagr^ulture seem to have made sheep raising more prosjL o^^ Thehigh prices of mutton, wool production facilities of raisE^g. the utili!sation of poor dry lands, the destruction of weeds, the production ofa rich easily kept manure are reasons which decide the farmer togive more^atteniion to sheep breeding.

produce. The type of mutton demanded by the market is the one


